Metric units of
measuring length

(subtraction and conversion
without regrouping)

01

www.kooracademy.com

) (=)



~

Subtract 24 millimeters and 11 millimeters.

Solution: o - T
milimerters —
5 4 mm
= T
13

Hence, 24 millimeters - 11 millimeters = 13 millimeters

So, answer is 13 millimeters.

Convert 13 millimeters into centimeters.

Solution: mm cm
( G )
Ilmm = — cm
10
I13mm = 1 cm
10
= 1.3 cm
\ So, 13 mm 1s equal to 1.3 cm. /
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] ﬁixample: 2

Subtract 37 meters and 32 meters.

Solution:
meters
Ej 37
32
05

Hence, 37 meters — 32 meters = 5 meters

So, answer is 5 meters.

Solution: m
< Im = 1000 mm >
Sm = 5x 1000 mm
= 5000 mm

So, 5 m 1s equal to 5000 mm.

\_

—

Convert 5 meters into millimeters.
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Subtract 26 kilometers and 10 kilometers.

Solution: =
kilometers
Ej ” 6 km
10
16

Hence, 26 kilometers — 10 kilometers = 16 kilometers

So, answer is 16 kilometers.

Convert 16 kilometers into meters.

. 1,.e.
Solution: SN m

[ tim

l6km =16x 1000 m

I

=

o

-

o

=
\/

= 16000 m
\ So, 16 km 1s equal to 16000 m. /
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] ﬁixample: 4 \

Subtract 45 centimeters and 23 centimeters.

Solution:
centimeters ‘ e
cm
=
23

22

Hence, 45 centimeters — 23 centimeters = 22 centimeters

So, answer is 22 centimeters.

Convert 22 centimeters into millimeters.

Solution: clm mm

< lcm = 10 mm >

22cm = 22x 10 mm

= 220 mm

\ So , 22 cm 1s equal to 220 mm. /
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i ﬁixample: 5 \

Subtract 57 millimeters and 32 millimeters.

Solution:
millimeters
Ej S 7
32
25

Hence, 57 millimeters — 32 millimeters = 25 millimeters.

So, answer is 25 millimeters.

Convert 25 millimeters into meters.

Solution: mm m
1 _ 1
mm= Jooo ™
25 mm = 25 m
1000
= 0.025 m

\ So, 25 mm 1s equal to 0.025 m. /
)
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Subtract 48 meters and 16 meters.

Solution: S

48
ST
32

Hence, 48 meters — 16 meters = 32 meters

So, answer 1s 32 meters.

Convert 32 meters into kilometers.

Solution:
< lm = 1500 XM >
32m =
1000
= 0.032 km

\ So, 32 m1s equal to 0.032 km.

meters T

~

Py
l\ﬁl

_/
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i ﬁixample: 7 \

Subtract 65 centimeters and 24 centimeters.

Solution: £
centimeters P]
cm

2

24

41

Hence, 65 centimeters — 24 centimeters = 41 centimeters

So, answer is 41 centimeters.

Convert 41 centimeters into meters.

Solution: cm m
< lem = Wlo m >
41 cm = %
= 0.4l m
L\ So, 41 cm 1s equal to 0.41 m. /J
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Solution:
meters
Ej 59
472
17

Hence, 59 meters — 42 meters = 17 meters

So, answer is 17 meters.

Convert 17 meters into centimeters.

Solution: m cm
< lm = 100 cm >
17m = 17x100 cm
= 1700 cm
\ So, 17 m 1s equal to 1700 cm. /
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